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Topic:- Child Development & Pedagogy (CDP)

1) which of the following is not a level of mental retardation? / frafafaa 4 q B aAle Hedl BT W1 qﬁ %?
1. Profound / o1&

2. Severe / ITHR

3. Savant / ﬁ'c'@?r

4. Mild / €&

Correct Answer :-

« Savant / fagaret

2) which of the following is least true about the process of growth? / fafafaad a HI-IT q@ &1 UfhaT & IR A 990 FH I %?
1. It represents change in a person’s quantifiable characteristics. / g i B! AETHD [ARdret & uRadT & U_Q"&h DAl %l
2. It is necessary for aspects of development. / UG faerg & uelf & ﬁ“l'Q icreca %I

3. It can only be assessed. / SHHT hdel 3TThelel [T ST TehcT &
4. It is not a continuous process. /memﬂﬁgl

Correct Answer :-

« It can only be assessed. /WWWWWW%I

3) The system of society wherein primary power, moral authority, social privilege and control of property are dominated by males is known as
1. Masculinity/W

2. Patrilineal /ﬁ?ﬁ%ﬁ'ﬂ'

3. Patriarchy / ﬁw

4. Matriarchy/ﬂ'l?-(!_'HFIT

Correct Answer :-

« Patriarchy / m

4) vocational guidance primarily helps students to: / ARG mﬁ qe1 =q A ol &) e A HGG hdl %:
1. Choose a life partner/ T Sitdel ATl & It

2. Choose an occupation/ Uk 9T & TIel &

3. Solve a personal problem/ Ueh SATFAINT FHEAT & FATUA #

4. Select subjects/ﬁ'q?ﬁ FT TIT FA H

Correct Answer :-

« Choose an occupation/ Teh I F AT H

5) When twins are born from separate zygotes, they are called: /| T& S[3dT qed -3 FIAT (FrFaew) ¥ da1 81 §, @ 3¢ g1 Frar

&
1. Identical twins / 3TS3feder e d
2. Siblings / Rafeieq

3. Spouses/Fqu'l?)'H


Lenovo
Stamp

Lenovo
Stamp


4. Fraternal twins / theeTel Cdled

Correct Answer :-

« Fraternal twins / ShceTol m

6) When a teacher finds diversity in the classroom, it is better that s/he/ ST T et Fam A QAfATEr gar %, al 9% Sg R % it dg.
1. Divides the class into small groups/ F&TT &l BIC 'H?ﬂ\?f # fasnaa 3

2. Categorizes the pupils according to diversity/ fafaerar & TR ﬁa}’lﬂfﬁ'&ﬁ Eal Eﬁﬁ?{ FI

3. Combines all of them together/ 3oT THT &I Teh T fFaT o)

4. Sends the pupils from diverse groups out of the class/ [GIEiCT] Fﬂ:lc\%’f * ﬁa}‘l’lﬁflﬁf FI FeT T T A |

Correct Answer :-

« Combines all of them together/ 3T T I T AT e of|

7) A learning style of the students of every age are affected by their /
& 3d & ol i & At df 39F ganrr yanfaa gl &1

1. All the above / 3udeFa |t
2. Environment only/?}ﬁlﬁ ardraor
3. Emotions only / CCRIERIE

4. Sociological needs only / HId THISIRIRAN ATTTHATHT

Correct Answer :-

+ All the above / 3uded @t

8) An Individualized Education Plan (IEP) is: / Us Sa{Fdarad el It (3mseh) &:

1. A plan created for every student in a classroom/ Tk &l H Tcdeh O o [olT TS TS ArateAT|

2. A subsection of the No Child Left Behind-Act/ ﬁg o STar fIF 7 Q’E—&Iﬁlﬁ'ﬂﬂ FI TH STERT|

3. A contract that must be followed as specified/ Ueh 3@3?1 Srasr. fafese &/ & groe forgr.ser @ifzu)
4. An outline for the general education teacher/ TTHT AL AT e ol Ueh wIRET|

Correct Answer :-

« A contract that must be followed as specified/ Teh 3-1@3?-1' Sraer Afése &9 & reer Far s ariRey
9) Which of the following is a socialization agency? / R=afaf@da A ¥ FlT vH FASHHIOT T §?
1. All of the above / W’*’iﬁ EN)

2. Society only / %ad TE (TfAf)

3. School only / Had Tpd

4. Family only / %ad URaR

Correct Answer :-

« All of the above/3q21‘cFH Tsir

10) Which genetic disorder is found only in females? / &¥sT T mgam Q&R Faa Afgemst & g Smar &2
1. Phenylketonuria / ﬁﬂiﬁla?{[ﬁ'm

2. Turner Syndrome / &oiX f&ZH

3. Down Syndrome / 313 &g

4. Klinefelter Syndrome / FellssTheel AT

Correct Answer :-

« Turner Syndrome / &R &g



11) To make socialization successful, it is necessary for parents to establish as early as possible in the infant’s life. / HATSHIOT HY
o e & o, Aa-Rar & e ag sravaw ¥ 3 Ry & Siee # F STeg ¥ STeg TN &I

1. Rules / AT

2. Routine / Tt

3. Rapport / dTerdel

4. Restrictions / Ifcereir

Correct Answer :-

« Routine / e

12) What animal was used in Watson’s experiment of classical conditioning? / afcqe & FaATRAST Hearufar (RRyfA®sa HTeJeleT) F gger
# B IEeR #1399 G g

1. Cat/ foeelr
2. Pigeon / &ecX
3. Dog / Il
4. Rabbit / @I

Correct Answer :-

« Rabbit / TIMA

13) Children who come from homes with unfavorable parent- child relationships tend to be ./ e o & Ara-Rar i szt 1 a9y

oA g A a=y @ d

1. Less impulsive / raefr

2. Good at intellectual control / 3TT&> a‘?aﬁa GREEGIC)
3. Successful in social participation / QIS HFfGRT & THd
4. Intolerant of others / GERI & Ufdl 3R]

Correct Answer :-

« Intolerant of others / GURI & Ufdl STEW]

14) Learner-centered education includes: / fRvareff-Ffga fRrew & wfAer &
1. Year-end appraisal / ¥ & 3d & HE\FJHT-T

2. Control over learning process / 38R Ufghar o fAZ=or

3. Control by the study program / 3T&JJeT FTIHA CanT IGEEL

4. Disciplinary force / 3Te]RITHeT el

Correct Answer :-

« Control over learning process / 31T UfohadT X forz=oT

15) Learning swimming or riding a horseis _____ learning. / GRICIE 23“1’& srafeA__ fer Aar gl
1. Motor / #TeX

2. Associate / FfFATIT (TAIfATR)

3. Serial / A& (HIRZTe)

4. Problem / GHEIT

Correct Answer :-

. Motor / AT



16) A baby appears surprised every time her mother covers her eyes and then uncovers them. What Piagetian cognitive concept has the baby not yet

understood that makes this game so exciting? /WWRWWW%WWWUMM“WM%“WWWM
2 P Reifeas SAcA® FTURT F goar 33 aF GHST A U § Y 3§ @A P SAAT AHATH AT §2

1. Conservation / TX&TOT

2. Seriation / ShASCHAT

3. Object permanence / ] Fuifica
4. Animism / Sfiadrg

Correct Answer :-

+ Object permanence / a¥¢ Fuiica
17) What is the study of the smallest units of speech known as? / $IT9OT (Tdier) #T FaA BT SHBAT F ICTAT FY FAT Fgl AT &2
1. Morphology / 3-1'@% ICEIC

2. Morphemes / &

3. Phonemes / Fafe#d

4. Phonology / tafer =it

Correct Answer :-

« Phonology / eafe fa=mmaT

18) Which of the following is not a type of intelligence described by Sternberg? / fAFafai@d H A FleT AT TEATH SanrT gioid Th YR iﬁ;ﬁl’ gt
14

1. Logical-mathematical element / dTfeheh-aTfOINT dcd
2. Experiential element / 3eJHdsled ded

3. Componential element / T¢& ded

4. Contextual element / TEHT dea

Correct Answer :-

« Logical-mathematical element / dTfeheh-3TTOTT dea

19) The earliest manifestation of inner speech in Vygotsky’s view is ./ TIFNCER & AR & WaRs Huor i FEd Igel
sffeafFa &l

1. private thought/ fasi faaR

2. private speech/ foSir o7

3. social speech/ TTHTTSTh HTYOT

4. personal speech/ SfGHTT HTYUT

Correct Answer :-

« private speech/ TSl sTyoT

20) Which of the following is not a social motive that drives behavior? / AFAfaf@d & ¥ Fla-ur e gEnfaF 3fARF a8 2 S e
T T HIAT &2

1. Achievement / 39cifed
2. Power / T

3. Intelligence/ gaﬁ'

4. Affiliation / HFeeteT

Correct Answer :-

« Intelligence/ gaﬁ

21) Which American psychologist developed psychological connectionism — the belief that connections are formed between perceived stimuli

and emitted responses? / fF® 3ANF FAAdTIAF & AadTAF atae RFERT 7T - I8 T § & @9y, FR¥aT o=t ik



Scaford yfafkant & &g aaa
1. Jean Piaget / Sl Rrrsr

2. Francis Galton / $hfohd et

3. Edward Thorndike / VS8 A8
4. Charles Spearman / e TIRRAF

Correct Answer :-

« Edward Thorndike / USGS UT1S5H

22) From Big five personality dimensions, behaviors such as speaking fluently, displaying ambition and exhibiting a high degree of intelligence
is ./ 93 dfT afFaca IAAT F, URIVETE Siea, AgcaTHiaT Teiid #a AR 3T FTaX T e F1 i A F1 qawR
.l

1. Extraversion / Eﬂ%?i'@k_-ﬂ

2. Openness / TISCIfF (3TeTa1d)
3. Conscientiousness/ FeicT eSS

4. Neuroticism / naﬁ%ageuw

Correct Answer :-

« Conscientiousness/ FccT ST

23) Attribution theory is a theory proposed by: / oMRIYoT Rigtia (vdeger LalY) & g garr sfaurfea frar
1. Jean William Fritz Piaget / ST faferger fresr f=mer

2. Bernard Weiner / 818 f3eix

3. B.F. Skinner / 1. T%. f&weRX

4. Abraham Maslow / 3TsTge HIEaT

Correct Answer :-

« Bernard Weiner / saiTs fasix

24) According the Vygotsky, the following are transmitted from generation to generation, except i Wﬂ?\"ﬁ& *® YR,

P! Bl FHafafad fid 3 i 9@ saaRa s € 1
1. Beliefs / &TROTT

2. Values / qe

3. Ignorance / 3Tl

4. Traditions / IRFERTT

Correct Answer :-

« Ignorance / 37Tl

25) Fraternal twins are born of from __. / YIq-gHS (Fb?ﬁ?l fo‘l) a1 g gl
1. No ovum / EIEAREEH

2. one ovum / Teh 3-131'0;[

3. two ova /ar 3-1?='I'U;I'

4. one sperm / Ueh [hIVT

Correct Answer :-

. Woova/a‘fygl'ul

26) What concept denotes the belief that one can effectively produce desired outcomes in a particular area? / Fl @ rguRon W Qg A ARG FIA § A
Fi§ Ay &7 & qifda aRome wied T Fwar §2



1. Self-efficacy / ¥a-FHTGRIRAT
2. Self-knowledge / 3TcH-3TeT
3. Self-esteem / 3TcH-HFHTT
4. Self-conception / TI-THehedelT

Correct Answer :-

« Self-efficacy / FI-THTGHRIRAT

27) Brainstorming as a technique helps to improve in the learning process. / T Tdhelldh & ® & AUR Fya (@ TifHT) ¥ A v afhar &
F g TN F Acg Ao ¥

1. Skills / aterer

2. Language / &TST

3. Creativity / TdeIlcHhdl

4. Critical Thinking / 3gel Rider
Correct Answer :-

e Creativity / IdelTcahdr

28) Play way method of teaching has been emphasised in the scheme of the education of : / fRi&or ¥t @« fafy

SR R 21

1. Naturalists / ‘Ffﬁa’l’ﬁ

2. Realists / T2TaTEY

3. Existentialists / 3ff&@ard!
4. Pragmatists / mﬂ—m"r

Correct Answer :-

 Naturalists / ‘;I'fﬁﬂ'la

29) The least effective method to attract students’ interest and attention is: / BE! B ot T AT ATHTd B & f%l'q Ja HH YT
T 8:

1. Lecture method/ eaT&aTT afer

2. Role play method / 3{\@3*7[ et fafer
3. Discussion method / TaT f3f&r

4. Game method / @er fafer

Correct Answer :-

« Lecture method/ SaT&aT fafer

30) peemphasizing rote learning is a part of: / STHBITSNT Sy RATH f= &1 T few=am &
1. Special needs education / oy srawes fRren

2. Learner-centred education / TRrefreff (FF-‘IT) Ffga e

3. Progressive education / FaTfarefrer fover

4. Interactive education / TREGR TAGT

Correct Answer :-

« Progressive education /Wﬁ%ﬁﬂ'ﬁfﬁ

Topic:- General Hindi (L1GH)

1) 39 & g TH a9 € Al |
W SN, qH weet g Ul , S Ser-3fer AT wARH |



v SN, g7 A g el , S S &t R e
wop SN, g A g umm , S Wl frea gewm |
wo) SN, 7 g Faml g g, Ol sl Y Yem |
2

& At g R w3 A

T fars TEgaT AT A oy et |

SRt B ST F3 amt a1 o gl et |

ATs 3 F AT MG Fg AT TN

AEE FIE feras geer 3 b |

Ffe Werg Fog ¥ g sRehs @ @t At

IUGFT YSIRT F GgH A IS I dTk WA F e qd30]

W F F FTAR A & FIF F HFH AT FT FoAI0T g1 A1 82
1. 3/

2. $HATER

3. 9%

4. R

Correct Answer :-

2) 39 F{ §& WA A7 € anf |

W SN, qH weet & Ul , ST Ser-3er AT wAEA |
v Sft, @ O & &F AN, S Riqaa @ TR |
wop Sft, @ Ao & anlr , S Sifa Y R el |
wop Sft, @ AR & 4w, SR WAl Braa gewm |
we) MY, G g Farl g arn , O s Y Yew |
2

& are g R F3q A

T fars e AT A oy a¥ |

ST BT ST F3 ant ar 9T et et |

Aus 3 F AW MG Fg T TN

e Fere foretae weer d7 @t |

Ffe Wery gag ¥ wog ehehs @ @t At

SUEFT YSIRN FY Gga A IS T T TA FT e qd30|
WoT: FA & HTAR 9raT 39 gara § et v v oft 7 = wwa 2
1. el S @

2. 3491 9T HHA £

3. T & TR E

4. 9@ & FHhA §

Correct Answer :-

o 39T 9 " B

3) 39 FJ T TA AW € AEl |

W SN, qH Gee g Ul , S Sfer-afer AT WA |
W SN, qF O a9 g AN, SN RraEa @ 99T |
W SN, g7 A g\ areh , S S et R e |
W SN, qE A gw amm , S W Aea gew |
wop Sft, @ g el g e, & afFT wY Yew |

2



&l arer qar R FI3G w |

T fare EaT AT A oy et |

ST B ST F3 @t ar 9 et @ |

A3 3w AW MG FEg F AR

AT FAIE fead weuer dF @ |

Ffe Wery Fog ¥ Fag gRans F @t &

I94FT ISI F Gga AT IF T T WA F el qA30
weeT: gNes o Wy F o Iy {2

1. 500 ¥ P 80|

2.8R S @esh e &

3.8R St & 69 & dord &1 ST Bl

4. 39aX FT A7 gR &1

Correct Answer :-

« 8RS & @9 Fo Fa g1 S g

4) 39 & gE TH T © an |

w3 Sft, G TaeT & Wit , ST FT-30r A @ |
v SN, qF w7 ¢ AT, SN RraEa @ 9T |
wop Sft, o Ao g A, SR Sfr @t R el
w3y Sft, g Al g amem , Y MR Brea gewm |
w3 SN, A g Tl g g, S e S ar |
2

&l A g R w3 F |

e fary] TETaT AT A oy W

ST B ST F3 @t ar 9 el et |

A3 ST R AT ARG FE AT TN

aeE FAIG freas wuer A @ |

Hfe Wery Fog ¥ wag gRes @ ot & )

IULFT YGINT F GgaT AT I3 T T WA F el qA30|
TR G AT HT AT 3 B2

1. Yarw

2,91

3. foara

4. 3Tar

Correct Answer :-

5) 39 Fq g¢ WA AW € aAnf |

W SN, qH deet g Ul , ST Jfer-3fer o wAEN |
W Sft, qF U a1 gA AN, A9 Raaa 9g gwRT |
wop Sft, @ Aok & Al , Sy Sfar @t R el
W SN, g A g\ umm , S Wl frea gewm |
wo) oMY, qF g Taml g g, Ol s Y Yem |
2

&l o ger R FIF FY |

T forarey TS AT A By X

SRt B ST #3 @t ar et et |

ATs 3 F AT MG FE AT TN U

e Fere fodtae weer d7 @t |



Ffe Werg Fog ¥ g eRehs @ @t v

IUGFT YGART F GgFT A IS I dT WA F el qd30]
WA AT FAG AT T 7 T A AN F F FoF A §2
139G H ¥ FS 6T

2. 39T SRR T GHTT @

3.3 Qe ¥ 3oTehT fATar o
4.@?%W$ﬁﬁwm§wﬁmmsﬁm
Correct Answer :-

« SN 3 HA HIIAT FT IR I I aifenAt o g
6) ¥ F& g T AW € awll |

W SN, qH et g Ul , ShY FHer-3fer A WA |

W SN, qF O a9 g AN, SN RaEa 9 99N |

wop Sft, @ Ao & anlr , S Sfar @t Rer el

wop Sft, @ A & 4w, SRy Waf Braa geem |

we) oM, G g Faml g g, el s Y Yer |

2

& At g B w3 A

T fars Eam A A oy 9t |

ST BT ST F3 At ar 9T et et |

ATs 3 F AW MG Fg AT TN

A FE R wver 3 at |

Hfe Werg gog ¥ deag sRels @ @t A

IUEFT YSIRN FY GG A qB ST dTek FA FT el a0
U SATAT & AT 9T FAT M & TET &7

1.A%e

2.9

3.89

4. Sel?u

Correct Answer :-

7) 39 H& gE T A © Al |

W SN, qH dae g Ul , S Sfer-afer AT WA |
W SN, qF O a9 g AN, SN RraEa @ 99N |
wop Sft, o A g aneh , SR Sfa @t R el |
wop Sft, @ Al g amen , S W fraa gemm |
ws) SN, G g Tl g g, Ol s Y Yew |
2

&l arer qar R FwI3G # |

T fare EaT AT A oy a¥ |

Tt B St F3 ant a1 o el &t |

s 39 F A Mg FE T TN

AT Fw ferag wuem & At |

Ffe Werg Foag ¥ Fag gRens F @8t &

39T TGINT FI GGHF A1 & AT aTel WA FT el 13T
W AR qEd B AW € T FA Ao 82

1. AT



2. 3nfolera
3. #rsteT
4.5

Correct Answer :-

8) 39 F/ T TH AW € dwEl |

w3y Sft, T TaeT & Wit , Y T30 A @ |
v SN, qF w7 g AT, SN Rraaa @ 9T |
wop Sft, o Ao g A, SR Sfr @b R el
w3y Sft, g Al g amem , Y MR e gewm |
w3 SN, O g Tl g g, S s S an |
2

&l oo g Ry w3 FE |

e fary] T AW A oy W

SRt B ST #3 @t ar 9 et et |

A3 3 F AU ARG FE AT TN

areE FAIE freas wuer dF @ |

Hfe Wy Fog ¥ wag gRals @t & 0

I94FT YGANT F GgaT AT I3 T T WA F el qA30|
weeT: Y $raT atee § A o s @A §2
1. SiaTer & FHALT

2. 3TEATT & FHATT

3. ¢Rl & FAT

4. fell AR & @AW

Correct Answer :-

. R AR & A

9) ¥ F& & T A € aw |

W SN, qH weet g Ul , ST Ser-3fer AT WA |

W Sft, qF U & gA AN, A9 Rdaa 95 gwRT |

wop Sft, @ Ao & Al , S Sfr @t R el

W SN, g A g umm , S Wl frea gewm |

we) oM, qF g Taml g g, Ol s Y Yer |

2

&l o ger R FIF F |

T forare] TSI AT A oy X

S Bifr ST F3 @t ar woggt et |

ATs 3 F AT MG FE AT TN

AEE FIE fera weer A ¥ |

Ffe Werg Fog ¥ g eRehs @ @t At

IUEFT YSART F Gga A IS I dTk WA F e qd30
9o I oparareT dic § aY st fREdY TRE & S AUAw dic Y AR TEaT &7
1. &

2. R

3. I3

4. 7

Correct Answer :-



10) ¥ F& g TH a9 € Anl |

W SN, qH et & Ul , SThY Sfer-3fer AT WA |
v ft, @ U & gF AT, S Riaaa ¥@g TR |
wop Sft, & A g anehl , S Sfa @t R el |
wo S, g A g umm , S Wl frea gewm
we) oMY, 7 g Faml g g, Ol s Y Yem |
2

&l e gar R FI3G # |

T fare Er$am AT A oy 9t |

ST BT ST F3 ant ar o et et |

Aas 3 T AW MG Fg T T N

e Fere foretae weer d7 @t |

Ffe Wery gag ¥ wog eRes @ @t at

IUEFT YSIRN FY GG A I T T YA FT e qA30
wooT: AT srrarer Al § o o frwd @A 87
L e & AT

2. 4 & FAE o A R §

3. TEr F qARA

4.8 & HaAW

Correct Answer :-

o O & A S A e §

11) ¥ FF g¢ TF A € |

W SN, qH daeT g Ul , SN Sfer-3fer AT WA |
W SN, qF O a9 g AN, SN Raaa @ 9N |
W SN, g7 duw g\ areh , S S &t R T |
wop Sft, @ Al g amen , S W fraa gewm |
v SN, g7 g wanh g e, W afda St Yem
2

&l arer qar R FI3g # |

T fare EsaT AT A oy aY |

Tt B ST F3 ant a1 W el &t |

A3 3 A AT MG FEg I TR

AHET Felrw fodtag quar d7 @ |

Ffe Werg Feg ¥ Fag gRans F @8t &

39YFA GGINT F GGHF oA & AT aTel WA FT e qA1STI
W Afy s S € At s fredr @ 87
1. RRmeT fr RE

2. del T W

3. ST T TRE

4. 91T & G

Correct Answer :-

o a1 T /e

12) 9 & ¢ A A € Al |

W SN, qH deeT g Ul , I SNer-3fer AT WA |



v SN, g7 Ao g el , SR S &t R e
v SN, g A g umm , S Wl frea gewm |
ws) oMY, 7 g Faml g\ g, Ol s Y Yer |
2

&t arer g R w3 A

e fars TEam A A oy 9¥ |

SRt B ST F3 amt a1 W gl et |

ATs 3 F AT MG FEg AT TN

A Fw Retae wuer 3 @t |

Ffe Werg Foag ¥ g eRehs @ @t At

IUGFT YSIRT F GG A IS I dTk WA F el qd130]
YeT: U SR SIF Tl Y HfFT ST W7 9Fd W I¢ AT § aF F47 g 872
1. el &1 3R S g

2. T el w1ET gean!

3. 391 ST @7 S &

4. 31 BT 95 ST B

Correct Answer :-

13) 39 F& g A a9 € anl |

W SN, qH weet g Ul , ST Ser-3er AT wAEN |
v ft, @ U & &F AN, S Riqaa @ 99K |
wop Sft, @ duw g AT , SR Siifa &t fee el |
Wy Sft, g Al g 4w, S Wefe e gewm |
we) oMY, G g Tl g g, O s Y Yew |
2

& are g R w37 A

T fars EaT AT A oy 9t |

ST BT ST F3 At ar 9T et et |

Aus 3 F AW MG Fg T T BN

e Fere foetae weer d7 ot |

Ffe Wery gag ¥ wog ehehs @ @t at )

IUEFT YSIRN FY GG A IS T T TRA FT e qd130|
We: 5 U A Hid 7 Sad 1 FW awyqr F1 qvia Far 7
1. 99 7Fd T fFT F @7 9 @E § 96 e g
2. 394Fd H § FI FAGT

3. 919 Had IRT 3T A fAwwer g S g

4. T AR ¥ T R Hr g

Correct Answer :-

. 9 #FT W AfFd F @1 QU Re § 96 A B
14) = ¥ ¢ TH A © Al |

W SN, qH dee g Ul , S Sfer-afer AT WA |
W SN, qF ua a9 g AN, SN RraEa @ 99T |
v SN, g7 duw g\ areh , S e &t R e |
w3y SfY, qF A g7 umm , S WAl e geww |
w8] S, I A TE & g, Ol s HYOYem |

2



&l arer qgr R FI3G # |

T fare EaT AT A oy aY |

ST B ST F3 @t ar 9 et et |
A3 3w AW MG FEg I AR
AT FAIE fead wuer d @ |

Ffe Wery Fog ¥ Fag gRans F @t &
IU4FT USI F GgaT A IF T T WA FT el qA30|
wear: e s weA € s w4 A2
1. 3mr

2. 9=y

3. EEY

4. HeTST
S

Correct Answer :-

15) 9 & ¢ A A € Al |

w3 Sft, G TaeT & Wil , ST T30 A @ |
v SN, qF w7 ¥ AN, SN Rraaa @ 99T |
wop Sft, o Aok g aneh , SR Sfr @t R el
w3y Sft, g AR g amem , Y MR Brea gewm |
w3 SN, A g Tl g g, W e S an |
2

&l A g R w3 F |
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Topic:- General English(L2GE)

1) Read the following passage and answer the question given below:

I've helped at a playground as well recently, and I've noticed that the boys take up all the space. The girls end up playing in a little space, they have a
house corner, and the girls end up in the house corner, or over in the book corner, which are clearly defined spaces where boys don’t run around,
whereas the rest of the space is taken up by boys running around attacking each other, being Superman or Batman. I think generally that the way
boys play tends to be more um, aggressive, perhaps even more violent than the way that girls play. Boys, for example, tend to play games which
involve competition, particularly using some kind of weapon, a sword or a gun. On the other hand, girls tend to play more cooperatively, and I think
more peacefully. I think boys tend to like playing war games, doing a lot more sort of physical things, whereas girls will tend to play a lot more games
like skipping and those that are focused around babies and teddy bears.

When did the writer find out that boys take up more space?
1. While conducting a research

2. While conducting a workshop

3. While teaching at a school

4. While helping at a playground

Correct Answer :-

®  While helping at a playground

2) Read the following passage and answer the question given below:

I've helped at a playground as well recently, and I've noticed that the boys take up all the space. The girls end up playing in a little space, they have a
house corner, and the girls end up in the house corner, or over in the book corner, which are clearly defined spaces where boys don’t run around,
whereas the rest of the space is taken up by boys running around attacking each other, being Superman or Batman. I think generally that the way
boys play tends to be more um, aggressive, perhaps even more violent than the way that girls play. Boys, for example, tend to play games which
involve competition, particularly using some kind of weapon, a sword or a gun. On the other hand, girls tend to play more cooperatively, and I think
more peacefully. I think boys tend to like playing war games, doing a lot more sort of physical things, whereas girls will tend to play a lot more games
like skipping and those that are focused around babies and teddy bears.

By what means do boys usually show their competitive but violent nature?
1. By using wrestling

2. By using fists

3. By using weapons

4. By using their legs

Correct Answer :-



* By using weapons

3) Read the following passage and answer the question given below:

I've helped at a playground as well recently, and I've noticed that the boys take up all the space. The girls end up playing in a little space, they have a
house corner, and the girls end up in the house corner, or over in the book corner, which are clearly defined spaces where boys don’t run around,
whereas the rest of the space is taken up by boys running around attacking each other, being Superman or Batman. I think generally that the way
boys play tends to be more um, aggressive, perhaps even more violent than the way that girls play. Boys, for example, tend to play games which
involve competition, particularly using some kind of weapon, a sword or a gun. On the other hand, girls tend to play more cooperatively, and I think
more peacefully. I think boys tend to like playing war games, doing a lot more sort of physical things, whereas girls will tend to play a lot more games
like skipping and those that are focused around babies and teddy bears.

What do boys’ games centre round?
1. Physical strength

2. Mental strength

3. Climbing ability

4. Athletic ability

Correct Answer :-

® Physical strength

4) Read the following passage and answer the question given below:

I've helped at a playground as well recently, and I've noticed that the boys take up all the space. The girls end up playing in a little space, they have a
house corner, and the girls end up in the house corner, or over in the book corner, which are clearly defined spaces where boys don’t run around,
whereas the rest of the space is taken up by boys running around attacking each other, being Superman or Batman. I think generally that the way
boys play tends to be more um, aggressive, perhaps even more violent than the way that girls play. Boys, for example, tend to play games which
involve competition, particularly using some kind of weapon, a sword or a gun. On the other hand, girls tend to play more cooperatively, and I think
more peacefully. I think boys tend to like playing war games, doing a lot more sort of physical things, whereas girls will tend to play a lot more games
like skipping and those that are focused around babies and teddy bears.

How does the author describe the way the girls play?
1. Intelligently

2. Peacefully

3. Actively

4. Gently

Correct Answer :-

®  Peacefully

5) Read the poem and answer the question given below:

The gentleman who cuts my hair

Is such a very pleasant man.

He looks so smooth and neat and bright
His hair is black, his coat is white,

All spick and span.

I sit before a looking-glass

And when he's ready to begin

He wraps me in a funny cape
And ties it on with strings of tape
Beneath my chin.

His scissors crunch along my neck
So cold, and oh, so very near,

I'm sometimes just a bit afraid
That if I moved the slightest shade

He'd snip my ear.

I feel the hair go tickling down,

It often makes me want to sneeze;
And when I've had a scent spray
He brushes all the bits away,

And then I know he's going to say,
'A shilling, please!"



What is the poet afraid of?

—-

. the scissors

N

. the knife

w

. the blade

N

. the razor

Correct Answer :-

o the scissors

6) Read the poem and answer the question given below:

The gentleman who cuts my hair

Is such a very pleasant man.

He looks so smooth and neat and bright
His hair is black, his coat is white,

All spick and span.

I sit before a looking-glass

And when he's ready to begin

He wraps me in a funny cape
And ties it on with strings of tape
Beneath my chin.

His scissors crunch along my neck
So cold, and oh, so very near,

I'm sometimes just a bit afraid
That if I moved the slightest shade

He'd snip my ear.

I feel the hair go tickling down,

It often makes me want to sneeze;
And when I've had a scent spray
He brushes all the bits away,

And then I know he's going to say,
'A shilling, please!'

How does the cut hair feel while falling down the back?
1. tickles

2. cascades

3. brushes

4. tumbles

Correct Answer :-

® tickles

7) Read the poem and answer the question given below:

The gentleman who cuts my hair

Is such a very pleasant man.

He looks so smooth and neat and bright
His hair is black, his coat is white,

All spick and span.

I sit before a looking-glass

And when he's ready to begin

He wraps me in a funny cape
And ties it on with strings of tape
Beneath my chin.

His scissors crunch along my neck
So cold, and oh, so very near,

I'm sometimes just a bit afraid
That if I moved the slightest shade

He'd snip my ear.

I feel the hair go tickling down,

It often makes me want to sneeze;
And when I've had a scent spray
He brushes all the bits away,



And then I know he's going to say,
'A shilling, please!’

Where does the poet sit?
1. on a stool

2. before a group of people

3. before a mirror

4. in a chair beside another customer

Correct Answer :-

® before a mirror

8) Read the poem and answer the question given below:

The gentleman who cuts my hair

Is such a very pleasant man.

He looks so smooth and neat and bright
His hair is black, his coat is white,

All spick and span.

I sit before a looking-glass

And when he's ready to begin

He wraps me in a funny cape
And ties it on with strings of tape
Beneath my chin.

His scissors crunch along my neck
So cold, and oh, so very near,

I'm sometimes just a bit afraid
That if I moved the slightest shade
He'd snip my ear.

I feel the hair go tickling down,

It often makes me want to sneeze;
And when I've had a scent spray
He brushes all the bits away,

And then I know he's going to say,
'A shilling, please!'

What sort of person is the gentleman who cuts the poet's hair?
1. grumpy

2. lively

3. friendly

4. pleasant

Correct Answer :-

e pleasant

9) Read the sentence carefully and choose the option that has an error in it:

It cannot be forecasted how society will emerge a generation hence.
1. how society will emerge

2. a generation hence.

3. It cannot be forecasted

4. No error

Correct Answer :-

¢ It cannot be forecasted

10) Which of the following options best combines the following sentences?
The man was arrested. He had stolen the jewellery.

1. When the man was arrested, she was stealing jewellery.



2. The man who had stolen the jewellery was arrested.
3. The man after stealing the jewellery was arrested.

4. The man was arrested but he had stolen the jewellery.

Correct Answer :-
« The man who had stolen the jewellery was arrested.

11) Read the sentence carefully and choose the option that has an error in it:

He found an interesting lithograph as the one he had seen on his trip to Spain.
1. as the one

2. He found an interesting lithograph

3. to Spain.

4. had seen on his trip

Correct Answer :-

e astheone

12) Fill in the blank with the correct option in the given sentence:

The parents asked the principal to his decision about the Sports Day.
1. reconsider

2. consideration

3. considered

4. considerate

Correct Answer :-
« reconsider

13) Choose the right tag:

He is coming here today, ?
1. has he?

2.isn't he?

3.is he?

4. doesn't he?

Correct Answer :-

e isn't he?

14) Choose the most appropriate determiner in the given sentence.

Hehas__ of money. He owns two apartments.

1. much

2. some

3. afew

4. alot

Correct Answer :-

e alot

15) Fill in the blank with the most appropriate preposition in the given sentence.
What do you do the day?

1. before



2. after

3. during

4. towards

Correct Answer :-

e during

16) Fillin the blank with the correct option in the given sentence:
Many astronomers gathered in the observat--.

1. --ants

2. --ory

3. --ions

4. --ence

Correct Answer :-

17) Fillin the blank with the correct option in the given sentence:

Fuel --jection means that fuel is forced into the combustion chambers of an engine.
1. re--

2. inter--

3.in--

4. pro--

Correct Answer :-

18) Choose the appropriate antonym for the highlighted word in the given sentence.

You can do it leisurely because the deadline has been extended.

1. intermittently
2. lackadaisically
3. hastily

4. sporadically

Correct Answer :-
o hastily

19) Choose the appropriate prepositions for the given sentence:

‘Macbeth’ is written Shakespeare; you will find more his plays the library.
1. over, about, at

2. against, on, in

3. for, in, at

4. by, of, in

Correct Answer :-
e by, of, in

20) Choose the appropriate synonym for the highlighted word in the given sentence.



The wise judge tempered justice with mercy where it was deserved.

1. wiped away differences
2. wielded power

3. made less severe

4. proved to be partial
Correct Answer :-

¢ made less severe

21) Choose the appropriate pronouns for the given sentence.

Ram is the cause of all miseries.
1. yourself, your

2. himself , theirs

3. himself, his

4. herself, our

Correct Answer :-
« himself, his

22) Choose the appropriate option that rewrites the given sentence in its passive voice.

Many young men from our village fought corruption.

1. Corruption was fought by many young men from our village.

2. Corruption is being fought by many young men from our village.
3. Many young men from our village fight corruption.

4. Many young men from our village are fighting corruption.

Correct Answer :-

« Corruption was fought by many young men from our village.

23) Choose the appropriate tenses to fill in the blanks in the given sentence:

Aparna very happy at the moment.
1. will not seem

2. doesn’t seem

3. didn't seem

4. was not seeming

Correct Answer :-

« doesn't seem

24) Choose the appropriate conjunction for the given sentence.

You had misbehaved; , Yyou are being punished.
1. but

2. however

3. therefore

4. because

Correct Answer :-

« therefore



25) Choose appropriate articles for the given sentence:

__ housing provided includes __ basic or standard dormitory accommodation offered by __ university.
1. no article required, a, a

2. A, no article required, an

3. The, the, the

4. the, a, no article required

Correct Answer :-
* The, the, the

26) Choose an appropriate modal for the given sentence:

“You've never heard of Sachin Tendulkar! You be serious,” said my friend.
1. mustn’t
2. aren’t

3. hadn’t

4. can’t

Correct Answer :-
e can’t

27) Choose the option that substitutes the given phrase appropriately.

A person who fits and repairs pipes
1. Mechanic

2. Lumber jack

3. Blacksmith

4. Plumber

Correct Answer :-
e Plumber

28) Choose the option that best transforms the sentence into its Indirect form:

My employer said, ‘I hope you will not be offended if I tell you that in my opinion, you will do better in some other kind of job.’
1. My employer said hoping | would not be offended if he told me that, in his opinion, | would do better in some other kind of job.

2. My employer was hoping that | would not be offended if he tells me that, in his opinion, | would do better in some other kind of job.

3. My employer hoped | would not be offended if he told me that, in his opinion, | would do better in some other kind of job.

4. My employer hoped he would not be offended if i told me that he would do better in some other kind of job.

Correct Answer :-

« My employer hoped | would not be offended if he told me that, in his opinion, | would do better in some other kind of job.
29) Choose the option that best explains the highlighted expression:

I can never play jokes on people because I can't keep a straight face.

1. act well

2. can’t say the punch line well

3. look serious

4. remember the joke well



Correct Answer :-

¢ look serious

30) Change the given statement to indirect speech.
I said, "I must finish the work in time.”

1. I said that I must finish that work in time.

2. I said that I finish the work in time.

3. Isaid that I have to finish the work in time.

4. I said that I had to finish the work in time.

Correct Answer :-

» I said that I had to finish the work in time.

Topic:- HINDI (HIN)

1) fareror Wera® AT FT TAE FA@ FHT €A o Afew B aw -
1. 390 |l

2. Faa Reror g & fav aver gorar aar 3ugea &l

3. Fad FHOT § FFEETA 8l

4. Fael FET & IR Jadt Hr wiea 7 g 8l

Correct Answer :-

o 3T wafr

2) Y gEdt & ANt A , 37¢ T99 §:@ IS 95T gl arFd A T AT Herar Y gen 2
1. R R §

2. a5 3oTeR §

3. ol fom §

4. i o §

Correct Answer :-
3) fFw fASTOT {F & HTEOT F qF F IR AW Pl 32
L qut & 3er Y 3R
2. 7 & I A IR
3. fadw & @A & IR
4. 3T @ faAeT & 3R

Correct Answer :-

o 3T ¥ ferHer @ 3R

4) fFE YR & qal & Hodalsd & Sea@ FAT SATAT 82
1. aiRae a3

2. SfFderd a7

3. 3AigaTiRe 99

4, TWHRY 97

Correct Answer :-

o WHRT 9T

5) g1 ¥ ToFW af¥ded &1 ATH S AcH ¥ ST §37T 82



1. g TR

2. AlgeT THT

3. G gTRrE

4. g9 TTdR
Correct Answer :-

o THEI BIAAT

6) s A W YR & u ¥ west AT A grar #2

1. IIRER® 97

2. Highah I

3. Al & 3des I
4,375 | HIg TG

Correct Answer :-

7) 3 Ay fFad garr R aes 2
1. AlgeT T

2. 3UgaTY 372

3. 9Neig gReds

4. A gAY

Correct Answer :-

o IUCATT 3F

8) Iy Ay Ry fFy ae & Ty §2
1LHa$

2. SaTeL®

3. geTEIETE

4. feolr

Correct Answer :-

. feeelr

9) ‘gog a1 U5 fFE IUAEFR H T §?
1.3

2. 73 garee

3. 4R AR

4. HUNREEATY I]

Correct Answer :-

10) ‘7 AR F AT wdar-aw R o aren?
1. Rvem 74

PAECIE

3. 3TEATIH

4, gAY

Correct Answer :-

o TEATERT



11) ‘FdRT ST TR #' FEF g@arT W a1eF 8?2
L. g7 AR

2. AgeT TheT

3. 8fsH |gsir

4. gRepoT Yl

Correct Answer :-

« oA argel

12) ‘FeAR & e gann Rk ey &2
1. g gETE gfaddr

2. g gReTg

3. 9T AT A

4. STeT FUT HCT

Correct Answer :-

13) gf3adt o frw AeW AE@E F AW W @ 4T §?
1. g e Sfaady

2. Telg 9ETe gfaddr

3. el A fader

4. HEIAR JaTe gfaadr

Correct Answer :-

14) RE A &1 Ramr Fey Aot & @ # smdan?

1. aRfeas e

2. Welleqs foaer

3. golellcAs faeer

4, gAER faser

Correct Answer :-

. wfefeas @ey

15) ‘gg F9AT ET o7 3R 9% 3@ AT AT F By 9w F TR @ A F Fl @ @2
1. 98 Tehell ATEAT AT 38 fHer T

2.9 AT <A1EAT AT 38 el |

3. 98 TUAT AT AT 3T Fr Her |

4. 9g S $9AT ARAT AT 3/ ar A T

Correct Answer :-

. 9 S T9T 9IEaT AT 39 A fAe I

16) ‘Fit fraer slgfe SeTa @ AT FET FIT F AT T & wFagy §9 ¥ a FlT F FEy Fgen §?
1. HTaTcHS fAaer

2. 38T e

3. AUTATCHS foaer

4. fFaRicHs® ey



Correct Answer :-

. dmarcHS fAeer

17) ‘qANMETE AeE FT FEYUH Sea@ ‘FAIAE e ofde faaw # gam R, g9F fFeuaw §-
1. (AT 2T

2. 7ig gAR areradY

3. JTATE THA el

4, gicaceic gRIsE aIcardsT ‘3’

Correct Answer :-

18) fF® Bog & WAF WOT A FAW: WA 9707 AR HT H A 7% O § qU WRAF Wor F quit H FEAr 23 g ¥
1. gaE |3 Tow

2. AGIG, | B

3. AT | TV

4. fFlie waw B

Correct Answer :-

o HAIG HIAT B

19) areYEe ed ARt ARl Rraeis &1 fcer fFa gor & fay §2
1. T ATeASF faey

2. FellcAS fAeer

3. gaTaReT e ey

4, dfora e

Correct Answer :-
20) ®=7 1943 §. # IAY gIRT FUIRA ‘AR Foas & ArT & ¥ Fla-@ Ry 6 AW gaRa a8 6

1. FHER AT

2. FERATY JIaTel

3. AfFEg o

4. AR 3OT AT

Correct Answer :-
o HFERATY AT
21) BTl F YA AGHTT F A F HTE GG F AR, ATfF -
1. BT 3A-3T9R HASR o A |
2.8 39 S FHisasar aar a|
3. B YT IR G & T TH|
4. omr & fow HeA 9T WA va 6T & T

Correct Answer :-

. BEr & for e ufear W vd dEs @ Tl

22) W g & YAF WO A 16 3 12 F s RAyw (3@) 3R 28 #AEW A< § 37 oo A Fga &
1. sl o<

2. T Bog,



3. el Togg
4. gRNfaH oo

Correct Answer :-

. gReffasr oo

23) vaa Hherer & aeTS ¢ -
1. gt fafer

2. 7% Fygor

3. Rsq ITT

4. gcger fafer

Correct Answer :-
3 IET
24) o3 & 3 & ‘GeRewr H G A O R s §2
1. 99 & i & #9a & fow
2.99 # 8 7§ FAgeaqol ad forme & AT
3. R aeg @ o w & fv
4. UTCAHdT &7 gaT formsr & fav

Correct Answer :-
o 9T H HA T Agcaqul a1 forEs & forw

25) o3 o@e # AR Fomae # fhE Rieg 1 FAEY T g 82

1.9 & TSl H AEATET gl

2.99 & 9T A

3. 99 & HETSA H T

4. e Rwgt &1 wer

Correct Answer :-

o U & FHMEIST A T

26) 3itqaie ve IlTaR® Fau) § RFE alg 6 HINT FT GAT FEAT ARC?
1. Th g H &

2. HiSeT T

3. AT HTST

4. 3TeT3T-37eldT AT

Correct Answer :-

27) yavEd FRar H ger vt § @ ad 32
1. (gAY ygfar

2. 3YATAT & FAdteTar

3. SigfRear &1 e

4. TEEYAIE AT

Correct Answer :-

« IGEIATET HIGAT

28) AT AT YAFAT F YR W 518 ¥ T A & swre ¢t &2



1. A 3R 3l s
2.5 3R TS e T

3. 996 AR caaaie s

4. Iifgfcas 3R Srer-arer &7 T

Correct Answer :-

29) fFW FET & Tog, FANA A FaedT ¥ R @ § 30 39F sl & w7 Ft agen G o1 FFar g

1. U T
2. fasy s
3. Herdeh Hreg

4, fAse Freg

Correct Answer :-

30) st freror F faffiew wi & weal A gAlfaat & AT vF W Rewor § -

1. ARG AS giSewoT
2. 3meafers TiveRIoT

3. defas TfSeaior

4, FATSTAERT Tieeapior

Correct Answer :-
. TS Tioeahror
31) st S IREFTAr ¥ A ¥ -
1. RO AT i AFSRT g
2. AT 7 IFTAFIR I AT
3. {9 & 3a9ar AR TR W 3AfAF=T0T g
4. [afaer Wit T SHASRY g
Correct Answer :-

o RO AT fT SATHRY g

32) s W@ 1 9fFar F e gdvYA R s A daar 2
1. ST
2. JSTHTST
3. AT

4. JSTHTST

Correct Answer :-

33) gt e F T o F FRAE TE o &7
1. foras Hthaas R gl

2. T 9H sncnfarard & A 8l

3. e Ale Tareeg & gl

4, Sraer aiais afa 8@ &l

Correct Answer :-

o TS ARS TaEeT 8 8l



34) F& # wANT it T RS it AoEh TN AFF GErEh w6 o1 wHA E 9 -
1. 95 ReTF F 3 F 3w &

2. BT & AARSH F TETS gl

3. %efl & T 36T dF g H 3w gl

4, 9% UrEa-fAEe & 3o arfed 8l

Correct Answer :-

« g% Higa-faae 7 39t arfad gl

35) TdAR # W YHR 1 9 Ued N F A0 SRR g@RT A9d g AT S 82
1. dR (Sehama)

2. 3eacai o

3. &5 uee

4. USiighel SR

Correct Answer :-

36) Tgal & arerwl f ot Y wiEAT F TOW F AT -
1. 30T |afr|

2. el TP Tt @ garar wiigu

3. hdel HiGd FeAlA TR

4. hael Fglell Gl =1

Correct Answer :-

o STET HelY

37) Hf¥Faary f @ Gl F Aqe <or & A T F=w B2
1. SR

2. FICT-HIG

3. 3Tt

4. FEA-HUG

Correct Answer :-

38) wfFaat i Fiaar R & Hr w@en frw doft F Fr 7 ¥2
L. ye Y

2. e

3. AEHT

4. 3TcATTT

Correct Answer :-

39) ga@ A AT ¥ -
1. ¥ @ foar g3 e
2. 91T §3T o

3. 94X o

4. oG & eI FHedal



Correct Answer :-

. eI AT

)

40) fF¥ TWAFR A ‘TG T AATH [6F FeT A1l §2
1. ITSATeeT HTErT HiFersier

2. G 31ayaret

3. AT

4. Berae arel

Correct Answer :-

41) FT # F sl @ Pey i RDavar a8 2
1. STTFdcd & TR

2. T SaUeT

3. sifeafa &1 goma

4. gfgreaar

Correct Answer :-

42) faF & ¥ FIT AT AP FT AT ALE &2
L

2. g

3. §9 Fool

4. FUGE] 3R 3AFT TS

ST A e BN
« & Fool

43) e dFaat § i @ o ¥
fafR iR gv fafdwer ¥ Raeman

e Rsmadt go Rem aww § e )

zor Afdsar aFar e § s@Afae g

#9r THRR AREar FAgR-tafa @i

1. 8d ATfe oG

2. BT B

3. gAfael e Toe

4. FUSTIAT Begy

Correct Answer :-

44) Rrafaf@a WFaal & sia-ar seer §2
I &y Rea

T IE HWAT Reg g g A 2

1. HTAATT HelFR

2. dICHT 370l

3. TSE 3P

4. 3ETEXTT PR



Correct Answer :-

45) et wRaT Iraey dor Fad @ [T ¥
1. g&ed B

2. Ofeaeeie ERee arcareT 3’

3. HicFerairer

4. FgTedT gAT

Correct Answer :-
. TR g
46) FATIR U9 & TUEH & fod I I 9F A B & § Fla-W sgnfaar 78 e 2
1. 39 3R IR & @y R @
2. WY Afaar 3R At & et 7 39 AR e R awd gl
3. FIeTeA FRATE F TR &
4. FARAHERY At F T FeEAds Jer T

Correct Answer :-

47) roREd! ol & HfAH TOT T HA-HA TAT FT AGARF WA qg7 FT T B AT AR F FAG B A aRorfa waww o
& wft ol F R F71 amehE o gE A1l sew vER & defaw sRsaR @ 9% & siefie Fwify J onfiw o A smerw aRades A R
AT AHATATE oA # Telt a§ off| FeAad FT 35T g TH U1 Lehardr swawyr et 5 oA @ off waeEar s gAEar & qew I
AN T AT A| FIW A TTHIA @ FaaT AT FT AFT FAEd HT 1537 971

Iwfad ufvee &1 tgd TR AT T Y #1 S« fafee:

AIIAPROT F FiAF AFE F FROT FT § FqeT FIF TS 30 @ A7
1. Yolrardy egaear

2. FTH=TRITET

3. 3o 3TfashR

4. FgFAT AR FAFAT

Correct Answer :-

o TAAAT 3R FHAHAT

LN

?Wﬂﬁ#hﬁmmmﬂr«rgﬁrmmm*ﬂmmﬁgﬁ?ﬁaﬁ@mm#mﬁﬁﬁmmmm
AT AHTAUTE TS A el 1§ off| FeAad FT 35T g THT A Lehardr saaedr et 5 oA @ off| waeEar AR gAEar & qew s
A 3T T A HIF F TTHITT F T & F1 AW qoed F &7r ami

IwfFd ufv®e 31 uga R 3T T uy &1 IR fafaw:
MEIN & HIAR e FRT IAF i F aere aRader ame?
1. goftare

2. FAGSIEROT

48)Wewh$$ﬁwwaﬁm-mmmmﬁwﬁﬁma§agﬁsmmmaam#aﬁwﬁm#rqﬂwﬁrmsﬁaﬂ

3. HEIG FT 3T
4. e wifa

Correct Answer :-

49) 3reREd! el & HfAA W1 TF HTA-HA TAT FT AGIS WAt g TS 8ol A ATl AGSWRYT F HiAs e Hr Rorfa Fawa shaer
& woft ol & R &7 reNw e gF ATl Iew YER F defaw ARSER @ 99 9 e Fifa i o F e aRade ar R
ATl FHRTE JeSfH # welt arF oft| FewEd F 3e7 & g unl Yot sawedt Fwet 7F S W oft| FaeEar 3R FAEG F qET A
AN T AT A| HIW A TTHitd & FaF AT F1 A9 Jovea T 23w am



Swfa Ui ol ugw 1Y 3T T vy #1 S A
AR F HTAR FFa FROMET AT F1 3rats Har?
1. AGSARROT & HiAG [ & HROT

2. Joliamér sgawdr & HROT

3. FIFHCRITET & Yoa3{fH # ST & HROT

4. TgdT Rad & RO

Correct Answer :-

« FATSAIROT & HiAF AP F HROT

So)mﬁaraha?aﬁ%mwawmmuﬁqmmmmwmmwm#%ﬁmaﬁqﬁwﬁmm
%mm#ﬁmmmﬁmwmmméﬁmﬁmaﬁwﬁwmmm#mm#mmmm
| mné’rt{vsaﬁﬂmﬁnéw mﬁmmﬁmwwﬂaﬁma«ﬁa@mzﬁaﬁlmaﬁtmﬁwm
A I AT A1 HE T TAFT F T R B A gered 2T )

Iufad uvede &1 ugd - AT U Yy &1 IR fafa:
AR F HTAR FFd Teat & FaaT Reder &1 A gaea frar?

1. TdSITIRUT

2. scdlq

3. HIHARIE
4.1 AT TThitar

Correct Answer :-

o B T TSTHITT

Sl)mal?h*arﬁwmammmwmmmﬁmmwmwwW%;ﬁﬂ:ﬁmaﬁrmmsﬁaﬂ
*maﬁ#ﬁmmmemrmmmmtmmawmmmammﬁmmmm
a1l mnﬁt{vsaﬁﬂmﬁﬂéefn mﬁmmﬁmwwﬂmﬁmmﬁa@mxﬁ%maﬁtw#nm
THA I AT A1 BIE Y TAFT F T AT B A wered R 1l

I uRwdg &1 yedr 4 T 1T vy o1 3w il
woqa ey & fav 3faa ofids & gwar @2

1. Yoliarey egaear

2. 909 # FAdSEROT

3. %0 $r FHifd

4. e wifa

Correct Answer :-

« WY H AR

52) qFF3 ACE Fl Tegd HAT AT T §7?

1. ATCTIAET H

2. TaTemer3t 7

3. forel ofr Tt WY

4. 7T W

Correct Answer :-

. fordl o e W

53) frdl g I VA F VSRS AT YA H o W 1 v@er @an § 39 e # @ Fla @ s wwad §2
RCIEE L))

2. 7 T

3. §UF AT

4. ST AT



Correct Answer :-

« TS AT

54) FUeER YHIG g@rT IRa fRe FErell Y 9O F A 99T §?
1. 3THIRET

2. 33T

3. ERR

4. 7mHA

Correct Answer :-

. JERET

55) 7% fredt 3qEROT § -
1. 508 ¥ P A8

2. TF-HcY GIHA FHT

3. T GIHAT FHT

4. Heg WIHA T

Correct Answer :-

o TF AT &7

56) 'qfere =X F GHSAT §1', IH qFT H IRIEY AT ¢ -
1. 508 ¥ A g7

2.9

3. qferg

4. ghRsaT

Correct Answer :-

57) ‘@Hmmﬁmmﬁw,mmﬁamﬂh
1. TF 3R | SR

2.3 RIS § O AT A

3. 54 gl i gear|

4.3¢ & g # |

Correct Answer :-

58) 3ifrur AR F&TOT EERT IS - N F TN W T aFT ¥ 3T I3 Pd 3¢ FT A ereg afFT FEad ¥
1. YeT BT s AfeFct

2. 9Mioft T&ToT ereg AR

3. SRATSIeTacl oT&ToT 2reg QA

4. ST e Arferd

Correct Answer :-

. TSR g AT

59) {eiA F&T HIS T S § IAHT HaAd AThelol P A Fad HAF 741 Ageaqor 82

1. Aif@s gl

2. fof@a olem



3. STYT-9eT fr &Far
4, SITHOT T TF SATTRRT

Correct Answer :-

o STTST-YAST T &TFAT

60) W@ RAFed Fam-

T A gfa 3e9e F arar qur Fgardr
1. AR T[o7

2. 30T 3T

3. 9rTE IO

4 FYE T

Correct Answer :-

o A T
S S
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